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FOREWORD

The National Examinations Council of Tanzania is pleased to issue this
Candidates’ Item Response Analysis (CIRA) report on Computer Science,
Advanced Certificate of Secondary Education Examination (ACSEE) 2021. The
analysis aimed at providing feedback to students, teachers, parents, policy makers
and other education stakeholders on how the candidates responded to the
questions.

Generally, the candidates’ performance in the 2021 Computer Science
Examination was average as 41.3 per cent of the candidates passed. The analysis of
performance on each topic shows that, the candidates had good performance in two
topics, average performance in three topics and weak performance in four topics
which were C++ Programming, Data Communication and Networking, Visual
Programming and Data Structure and Algorithm. The average performance in this
subject is attributed to the candidates’ lack of practical skills.

The National Examinations Council expects that the feedback provided in this
report will help the education administrators, school managers, teachers and the
students to identify proper measures to take in order to improve the candidates’
performance in future examinations administered by the Council.

Finally, the Council would like to thank the examination officers and all
stakeholders who participated in the preparation of this report.

A

Dr. Chérles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report provides the analysis of the candidates’ performance on the
Advanced Certificates of Secondary Education Examination (ACSEE)
Computer Science subject 2021. The examination assessed knowledge and
the competences acquired by the candidates at the Advanced Level of
secondary education.

The examination had two papers, namely; Computer Science 1 (Theory) and
Computer Science 2 (Practical). The theory paper had two (2) sections; A
and B. Section A consisted of seven (7) compulsory questions of 10 marks
each. Section B had three (3) optional questions of 15 marks each. The
candidates were required to attempt two (2) questions. The practical paper
had three (3) questions of 25 marks each. The candidates were required to
attempt two (2) questions, including question one.

A total of 310 candidates sat for the Computer Science examination in 2021.
Out of these, 187 (60.52%) passed the examination and 123 (39.48 %)
failed. In 2020, a total of 39 candidates sat for the Computer Science
examination, of these candidates, 32 (82.05%) passed and 7 (17.95 %)
failed. This means that there is a decline in performance by 21.53 per cent in
2021.

The analysis of the candidates’ performance on each question is done by
showing the requirements of the questions, what the candidates wrote and
the mistakes they made while attempting the questions. Furthermore, the
extracts of candidates’ responses have been provided to illustrate the cases
being presented. The candidates’ performance on each question/topic is
categorized using the ranges of 0 to 34 (poor performance), 35 to 59
(average performance) and 60 to 100 (good performance). These intervals
stand for the per centage of the candidates who scored 35 per cent or above
of the marks allocated to different questions. The candidates’ performance is
also presented in different charts in which the red colour stands for poor
performance, yellow colour for average performance and green colour for
good performance. Finally, the report provides the conclusions and
recommendations.



2.0

2.1

ANALYSIS OF THE CANDIDATES’ RESPONSE PER QUESTION

136/1 Computer Science 1

2.1.1 Question 1: Computer Basics

In this question, the candidates were required to;

(a) differentiate utility software from operating system.

(b) state four factors to be considered when choosing an operating system.

(c) describe four functions of the Control Unit in the Central Processing
Unit (CPU).

A total of 310 (100%) candidates attempted this question, out of whom
109 (35.2%) scored from 0 to 3 marks, 97 (31.3%) scored 3.5 to 5.5 marks
and 104 (33.5%) scored 6 to 10 marks out of 10 marks allocated. Figure 1
illustrates the candidates' performance in this question.

Scores
m)-3
035-55

m6.0-10

Figure 1: The candidates’ performance on question 1 of paper 1.

The general performance was good because 64.8% of the candidates
scored 3.5 marks or above. The analysis shows that; 34 per cent of the
candidates were able to score high marks ranging from 6.0 to 10. The
candidates managed to differentiate utility software from operating system
in part (a). Some of the candidates explained the meaning of “operating
system” but failed to explain the term “utility software”. Other candidates
wrote the meaning of application software instead of utility software. In
part (b), the candidates gave correct factors to be considered when
choosing operating system. However, some of them gave only three
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correct factors to be considered when choosing an operating system
instead of four factors. Moreover, the candidates gave correct functions of
the control unit in the Central Processing Unit in part (c). Other candidates
wrote correctly three functions of Control Unit with function of another
part of CPU. For example, one candidate wrote; to perform all calculation
and logic operation in the CPU, which is the function of ALU and not CU
in CPU. This led them to lose marks. Extract 1.1 represents a sample of a
good response.
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Extract 1.1: A sample of correct answer to question 1 of paper 1.

In extract 1.1, the candidate managed to differentiate utility software from
operating system and stated correctly the factors to be considered when
choosing an operating system. The candidate also gave correct functions
of the Control Unit in the Central Processing Unit (CPU).

The candidates (31.3%) who scored average marks gave a few correct
factors to be considered when choosing an operating system in part (b),
and wrote correctly some of the functions of the control unit in the CPU in
part (c). However, they failed to differentiate utility software from system
software in part (a). Some of the candidates described correctly only two
functions of the Control Unit in the CPU but failed to describe other
functions. This led them to lose some marks in this part. Similarly, some
candidates managed to give one or two factors to be considered when
choosing an operating system instead of four factors. It was noted that
some of the candidates wrote factors to be considered when purchasing a
computer. For example, one candidate wrote; cost of the computer and
portability of the computer as factors to be considered when choosing an
operating system. This indicates that the candidate did not understand the

requirements of the question. Furthermore, some candidates described the
4



function of the Control Unit as a storage part of a computer instead of
being the processing part. For example, one candidate wrote; Control Unit
can provide temporary storage of data. This indicates that the candidate
failed to differentiate computer parts from their functions.

Further analysis shows that 33.5 per cent of the candidates scored low
marks (0 to 3). The candidates failed to differentiate utility software from
operating system in part (a). Some of the candidates mentioned irrelevant
software instead of giving the meaning of utility software. It was noted
that some of the candidates managed to write only one factor to be
considered when choosing an operating system in part (b). The analysis
reveals that there were candidates who wrote functions of the operating
system instead of factors to be considered when choosing the operating
system. For example, one candidate wrote; it manages file and folder, it
manages memory. This shows that the candidate did not understand the
requirements of the question. Likewise, some of the candidates gave only
one correct function of the Control Unit and other incorrect functions in
part (c). The analysis shows that there were candidates who gave general
functions of CPU instead of the Control Unit. For example, one of the
candidates wrote; Control Unit is a brain of a computer which signifies
insufficient knowledge of the parts of CPU and their functions. Extract 1.2
provides a sample of such incorrect responses.
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Extract 1.2: A sample of an incorrect answer to question 1 of paper 1.
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In extract 1.2, the candidate managed to describe correctly one function of
control unit in the Central Processing Unit (CPU). However, the candidate
failed to differentiate utility software from an operating system. In
addition, the candidate was unable to write factors to be considered when
choosing an operating system. The candidates also failed to describe
functions of Control Unit in the Central Processing Unit (CPU).

2.1.2 Question 2: Data Communication and Networking

In this question, the candidates were required to: - (a) explain briefly the
demodulation process, (b) explain the following terms as used in data
communication; (i) Bandwidth (ii) Baseband signal (iii) Broadband
transmission and (iv) Attenuation and (c) to describe the three modes of
data communication with examples.

A total of 310 (100%) candidates attempted this question. Out of whom
230 (74.2%) scored from 0 to 3 marks, 60 (19.3%) scored 3.5 to 5.5 marks
and 20 (6.5%) scored 6 to 10 marks out of 10 marks allocated. Figure 2
illustrates the candidates’ performance on this question.

100 -
90 -
80 - 742
70 -
60 -
50 -
40 -
30 7 194
20 -

10 - 6.3

0 , , .
0-3 35-55 6-10
Scores

Percentage of Candidates

Figure 2: The candidates’ performance on question 2 of paper 1.

The general performance on this question was poor because 74.2 per
cent of the candidates scored low marks (0 - 3). The candidates failed to
explain demodulation process in part (a). Some of the candidates
explained the meaning of “modulation process” instead of
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“demodulation  process”. For example, one candidate wrote;
demodulation is the process of converting digital signal to analogy
signal. This signifies that the candidates had inadequate knowledge of
data communication concept. In part (b), majority of the candidates
failed to explain the terms “bandwidth”, “baseband signal”, “broadband
transmission”, and ‘“attenuation”. However, some of the candidates
managed to explain the term bandwidth but failed to explain the
meaning of other terms as they are applied in data communication. Other
candidates gave direct translation of the terms instead of providing the
meaning of those terms. For example, one candidate wrote; Broadband
transmission is the transmission of a signal in a given media whose
bandwidth is large. This indicates that the candidates had insufficient
knowledge of Broadband transmission.

The analysis of data shows that, a few candidates managed to explain
the term “attenuation” as used in data communication. In part (c), some
candidates explained the components of information dissemination like
sender, medium and receiver instead of modes of data communication.
Other candidates described the components of computer operations
instead of modes of data communication. For example, one of the
candidates wrote three modes of data communication as; input data,
processing data and output data communication.

Moreover, some of the candidates failed to differentiate between the
type of data and modes of data communication. For example, one of the
candidates wrote; modes of data communications are analogy data,
digital data and hybrid data communication. This signifies that the
candidate did not understand the requirement of the question. Generally,
all candidates who scored low marks lacked knowledge of Data
Communication and Computer Networking. However, a few of these
candidates mentioned correctly at least one mode of data communication
but failed to explain and give their examples. This led them to score low
marks. Extract 2.1 presents a sample of such incorrect responses.
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Extract 2.1: A sample of an incorrect response to question 2 in paper 1

In extract 2.1, the candidate failed to explain the demodulation process,
bandwidth, baseband signal, broadband transmission and attenuation in
part () and (b). In part (c), the candidates wrote ways of data transmission
instead of modes of data communication.



On the other hand, the candidates (19.3%) who scored average marks (3.5
- 5.5) explained correctly only the meaning of demodulation process in
part (a). However, some of them explained the term ‘Modem’ instead of
demodulation process. These candidates failed to differentiate between the
process of data transfer and the device required to transfer data. In part (b),
some of the candidates managed to describe Bandwidth and Attenuation
but failed to describe Baseband signal and Broadband transmission.
Others interchanged the meaning of Baseband signal with Broadband
transmission. In part (c), the candidates managed to describe only one or
two modes of data communication and failed to explain others. Moreover,
other candidates mentioned correctly all the three modes of data
communication but failed to explain them.

The statistics show that, a few candidates (6.5%) scored high marks (6 -
10). The analysis of the responses shows that the candidates managed to
describe the term demodulation process in part (a). In part (b), they
explained correctly at least two terms as used in data communication.
However, some of the candidates gave unclear explanations for the terms
hence, they could not score all the marks in this part. In part (c), the
candidates described correctly at least two modes of data communication.
However, some of them failed to give examples. This led them to lose
some marks. Extract 2.2 presents a sample of correct response.
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Extract 2.2: A sample of correct response to question 2 in paper 1

In extract 2.2, the candidate managed to explain the demodulation process,
bandwidth, baseband signal, broadband transmission, attenuation and the
three modes of data communication clearly with examples.
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2.1.3 Question 3: Data Representation

In this question the candidates were required to;
(a) differentiate analogue from digital quantities.
(b) convert decimal number 3010 to binary form and to find the following;
(i) 1’s complement
(if) 2’s complement
(c) perform the following subtraction operation using 2’s complement and
to express the answer in decimal numbering system in;
(i) 100.510 —50.7510
(if) 1010 - 2810

A total of 310 (100%) candidates attempted this question, out of whom
182 (58.7%) scored from 0 to 3 marks, 89 (28.7%) scored from 3.5 to 5.5
marks and 39 (12.6%) scored from 6 to 10 marks out of the 10 marks
allocated. Figure 3 illustrates the candidates’ performance on this
question.

Scores
m0-3

O3.5-35

m6.0-10

Figure 3: The candidates’ performance on question 3 of paper 1.

The general performance on this question was average because 41.3 per
cent of the candidates scored 3.0 marks or above. The analysis shows that,
the candidates (58.7%) who scored low marks (0 - 3) failed to differentiate
analogue from digital quantities in part (a). Some of the candidates
explained them as ways of information dissemination instead of ways of
representing data. For example, one candidate wrote; Analogue quantities
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uses traditional or local ways like letters and drama while digital
quantities have modern or technological ways like computer, radio and
TV. Other candidates interchanged the explanations of analogue with
digital quantities. In part (b), the candidates converted correctly decimal
number 3010 to binary number but they failed to find its 1°s and 2’s
complements. Some of the candidates followed the correct procedures of
converting decimal to binary number but failed to arrange them correctly.
For example, one candidate wrote 0111, instead of 1110,. This indicates
that the candidate lacked practice on number conversion. In part (c), most
of the candidates performed subtraction without using 2’s complement.
The candidates failed to convert the given decimal number into binary
number. This indicates that the candidates had insufficient knowledge of
ways of representing data. Other candidates failed to perform the
subtraction operation. This made them obtain incorrect decimal number.
For example, one candidate wrote, 1610 instead of -1810 from 1010 - 281o0.
This shows that the candidate had insufficient knowledge of arithmetic
calculation. Extract 3.1 presents a sample of such incorrect responses.

12



aj VS P cr A reFonee ~ Araloa.e

m&r/ Ao/  Guerdsdr s

PKotoce  ouantsFtes ryepen ID = guanty

Shbar  wfe é?n&/yr\/ o£4)7é‘ D/Jv'éé L O a,/;_c_'ﬁ

ARV, JQ‘?/#&‘_/ 4ua/37‘3‘%‘44 Lot e

ore et ezt ﬁy fua/r}‘o% e ¢ -

5) C oy e 0&67:’774—/ Pgesrrodser -?Oto S é)bm:)/.

So b
é/\/ Mmg&r i&ma/fmsév-
21 <O
=2 1 5. o — lowseyt <igelencant [
2 1 {
2 = |-
2 3 [
1) O DA =T Syanigh 0T v

So%e. =(oine)

13



(50'75)\0 :

ogdn. 271 O

Ly Floxw ' )T Gxp +G X/0")

. 5oL +7 tIO

=577

/07) -‘5/() — 50 - 7-5;"

-995 ~ EZ7

z |57

Qi) [0 - 280

oo
(/8)

/D 0777(/770 o/

() x 10) + 0 x 10

- {0
= [/

(2x)

/De\]r%’b'ﬂ* 0 7™

o xpD+ (2x ')

2+ X0
= ‘ XO'

(o) - (2&)

/| - X0

. —

Extract 3.1: A sample of an incorrect response to question 3 from paper 1

The response of the candidate in extract 3.1 shows that the candidate
failed to differentiate analogue from digital quantities and failed to convert
decimal to binary number system. The candidate also failed to find 1’s and
2’s complements of the binary number and failed to perform the

subtraction operation using 2’s complement as it was instructed.

14



Further analysis from the candidates’ responses reveals that the candidates
who had an average performance from 3.5 to 5.5 marks were able to
differentiate analogue from digital quantities in part (a). Some of the
candidates gave unclear explanation of the term analogue and digital
quantities which led them to lose some marks. In part (b), the candidates
performed correctly the conversion of decimal to binary number system
and managed to find the 1’s complements of the given binary number.
However, they failed to find its 2’s complement. In part (c), the candidates
managed to convert the given decimal into binary number but they failed
to use 2’s complement to perform subtraction operation. Some of the
candidates were able to convert the whole number part but failed to
convert the decimal part. For example, one of the candidates wrote;
1100100.01>-110010.10; instead of 1100100.10,—-110010.11>. This shows
that, the candidate lacked practice on conversion of numbers. Other
candidates converted decimal to hexadecimal number instead of
converting to binary number.

On the other hand, the candidates (12.6%) who scored marks ranging from
6 to 10 managed to differentiate analogue from digital quantities in part
(@). In part (b), the candidates converted correctly the decimal number 3010
into binary number. They also managed to find the 1’s complement and
the 2’s complement of the binary number. However, the candidates failed
to perform the subtraction operation using 2’s complement and expressing
it into decimal numbering system in part (c). Some of the candidates
performed the subtraction of minuend with the 2’s complement of
subtrahend instead of addition of minuend with the 2’s complement of
subtrahend which resulted in wrong binaries. This led them to lose some
marks. Other candidates subtracted correctly the given decimal to binary
number but they gave the solution in binary form instead of decimal form.
Moreover, some of the candidates failed to convert the binary number
obtained from 1010 - 2810 into negative decimal number. Others gave
correct decimal number but they did not show all the required steps to get
the number. This led them to lose some marks. Extract 3.2 presents a
sample of correct responses.

15
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Extract 3.1: A sample of a correct response to question 3 in paper 1

In extract 3.1, the candidate managed to differentiate analogue from digital
quantities, covert the given decimal number to binary form and then
managed to find the 1’s and 2’s complement of the given binary number.
Also the candidate managed to perform addition of minuend using 2’s
complement of subtrahend.

2.1.4 Question 4: Visual Programming
In this question, the candidates were required to: -

(a) differentiate public subprocedure from private subprocedure as
applied in Visual basic.

(b) explain what will happen if the number of items exceeds the value
that can be displayed in the ComboBox?

(c) explain three types of ComboBox styles.
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(d) read the given Visual Basic Codes and answer the question that
follow:
Private Sub cmdRemoveL.istltem_click ()
If MyList.ListIndex>-1 Then
MyList.Removeltem MyList.Listindex

End if
(1) What will Listindex property do if there is no item selected in the
list?

(i) Which type of event will cause the computer to execute the
codes above?

A total of 310 (100%) candidates attempted this question, out of whom
305 (98.4%) scored from 0 to 3 marks, 3 (1%) scored from 3.5 to 5.5
marks and 2 (0.6%) scored from 6 to 10 marks out of the 10 marks
allocated. The performance of the candidates is summarised in Table 1.

Table 1: Summary of the Candidates’ Performance in Question 4

Scores Number of | Per centage of
candidates candidates

0-3

35-55

6.0 -10

Total

The illustration above shows that the general performance was poor
because 98.4 per cent of the candidates scored from 0 and 3 out of 10
marks allocated in this question.

The analysis from the candidates’ responses showed that most of the
candidates (98.4%) who scored low marks in this question gave direct
interpretation of the term “public” and “private” in part (a). For example,
one of the candidates wrote; Public subprocedures -is the procedures
which used by all organization and public institution e.g. School, but
private subprocedures —is the subprocedures which used by private person
or authorized owned by individual person. In part (b), the candidates
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failed to explain what will happen if the number of items exceeds the
value that can be displayed in the ComboBox. Most of the candidates
lacked practical skills, which led them to give irrelevant responses. For
example, one of the candidates wrote; The ComboBox will never display
those items exceeded the value that can be displayed in the ComboBox.
This shows that, the candidate lacked practical skills on Visual
programming. In part (c), some of the candidate listed other form features
such as Check box, Option box and Search box instead of explaining the
types of ComboBox styles. These candidates did not know that, the types
of ComboBox styles includes Dropdown (style 0), Simple (style 1),
Dropdown-List (style 2).

Other candidates explained on irrelevant features such as rectangles, Oval
shapes and Squares. The candidates failed to understand that, these shapes
are mathematical features and not features used in a Visual Basic
programming. Moreover, some candidates explained vertical and
horizontal orientation of ComboBox instead of types of ComboBox styles.
This indicates that, the candidates did not understand the requirements of
the question. In part (d), the candidate failed to interpret the given Visual
Basic codes. Hence, they were not able to provide a correct answer in part
(d) (i) and (ii). Extract 4.1 presents a sample of such incorrect responses.
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Extract 4.1: A sample of incorrect response to question 4 in paper 1

Extract 4.1 shows the response of the candidate who failed to differentiate
public subprocedure from private subprocedure as applied in Visual Basic
programming in part (a) and (b). However, the candidate was able to give
the event required for the program to execute although failed to explain
the three types of ComboBox styles in part (c) and (d).

Further analysis from the candidates’ responses revealed that the
candidates (1%) who had an average performance (3.5-5.5) managed to
differentiate the term ‘Public subprocedure’ from ‘Private subprocedure’
in part (a). The candidates explained correctly the effect produced when
the number of items exceeds the value within a ComboBox in part (b). In
part (c), the candidates listed correctly the types of ComboBox styles but
failed to explain them. This led them to lose some marks. Moreover, the
candidates failed to interpret the conditional statement in part (d) (i) but
they were able to give the correct event for the computer to execute the
given Visual Basic codes in part (d) (ii).

On the other hand, two (0.6%) candidates who scored high marks
managed to differentiate Public subprocedure from Private subprocedure
correctly in part (a). The candidates explained correctly what will happen
if the number of items exceeds the value that can be displayed in the
ComboBox in part (b). However, one of the candidates managed to
explain only one type of ComboBox and failed to explain the other two
types in part (c). Another candidate listed correctly all three types of
ComboBox styles with incomplete explanations. In part (d), the candidates
managed to interpret the given Visual Basic codes hence, they stated
correctly the effect of Listindex if there is no item selected on a list and
gave the correct event for the computer to execute the given Visual Basic
codes.

2.1.5 Question 5: Data Structure and Algorithms

In this question, the candidates were required to:
(@) give the meaning of a pointer.
(b) state three advantages of a pointer.
(c) explain the advantage of dynamic data structure over static data
structure in terms of size.
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(d) distinguish between the following statements as used in the pointer:
int*ptr = new int (5); and int*ptr = new int [5];

A total of 310 (100%) candidates attempted this question, out of whom
282 (91%) scored from 0 to 3 marks, 20 (5.8%) scored 3.5 to 5.5 marks
and 8 (3.2%) scored 6 to 10 marks out of the 10 marks allocated. The
candidates who scored 0 marks were 71 (22%). Figure 3 illustrates the
candidates’ performance in this question.
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Figure 5: The candidates' performance in question 5 of paper 1.

The general performance in this question was poor because majority of the
candidates (91 %) scored low marks (0 - 3).

The analysis shows that some of the candidates who scored low marks in
part (a) incorrectly related the variable pointer with the pointer stick,
normally used by the teacher during the teaching process. Other
candidates related the term pointer with a cursor required to select and
point files and folders on a computer. This shows that the candidates
lacked knowledge of variable pointer used in programming. In part (b),
most of the candidates wrote the advantages of pointer stick and cursor
instead of variable pointer. For example, one of the candidates stated the
advantages of cursor as pointing the device used to select folders and files
in the computer. The candidates were not aware that a pointer is the
memory used to store variables in a program. In part (c), some candidates
managed to give the advantages of dynamic over static data structure but
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failed to explain it in detail. Other candidates gave normal translation of
the term dynamic and static which is not related to programming. For
example, one of the candidates wrote; dynamic data structure as data
structure which changes at any time according to the environment and
easy to spread at any place in the world. Others defined the term dynamic
data structure instead of giving its advantage in terms of size. This shows
that the candidates lacked knowledge of dynamic and static data structure.
In part(d), the candidates failed to distinguish between the statement
int*ptr=new int (5); and int*ptr=new int [5]; as used in the pointer. Some
of the candidates gave differences based on the format of the brackets
given by a variable instead of the memory size of a variable. Extract 5.1
presents a sample of such incorrect responses.
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Extract 5.1: A sample of an incorrect response to question 5 in paper 1

In extract 5.1, the candidate defined a pointer as a form instead of variable
in part (a). In part (b), the candidate wrote the advantage of that form of
data processing. In part (c), the candidate gave incorrect advantages of
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dynamic over the static data structure. Furthermore, in part (d), the
candidate failed to distinguish the two given statements as used in the
pointer.

On the other hand, the candidates (5.8%) who had an average performance
defined correctly the term ‘pointer’ as applied in computer programming
in part (a). The candidates managed to write only one or two advantages
of a pointer but failed to write all the three in part (b). In part (c), the
candidates defined the terms instead of giving advantages of dynamic over
static data structure in terms of size. Some of the candidates gave
advantages of dynamic over static data structure without considering their
size. This implies that the candidates did not understand the question. In
part (d), most of the candidates failed to differentiate int*ptr=new int (5)
and int*ptr=new int [5]. Some of the candidates explained correctly the
application of one statement but failed to compare with another statement.
Other candidates gave unclear differences between two statements which
led them to lose marks. For example, one of the candidates wrote;
int*ptr=new int [5] —is an array while int*ptr=new int (5) is not an array.
The candidate failed to relate the given size from each variable pointer.

Further analysis from the candidates’ responses shows that the candidates
(3.2%) who scored high marks defined correctly the term ‘pointer’ in part
(a) and stated correctly three advantages of pointer in part (b). Some of the
candidates explained correctly two advantages with one incorrect
advantage. Other candidates repeated the same advantages which led them
to lose some marks. Moreover, some candidates defined the term ‘pointer’
instead of giving its advantages in programming. In part (c), the
candidates managed to explain the advantages of dynamic over static data
structure. In part (d), the candidates were able to distinguish int*ptr=new
int (5); and int*ptr=new int [5]; as used in the pointer. However, some of
the candidates explained correctly the uses of one statement but failed to
explain the uses of another statement. Extract 5.2 presents a sample of
such correct responses.
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Extract 5.2: A sample of a relatively good answer to question 5 of paper
1

26



In extract 5.2, the candidate managed to define a variable pointer, stated
correctly the three advantages of the variable pointer and explained clearly
the advantages of dynamic data structure over the static data structure.
However, the candidate failed to distinguish the statement int*ptr = new int
(5); and int*ptr = new int [5]; as used in a pointer.

2.1.6 Question 6: Website Development
In this question, the candidates were required to; (a) explain briefly three
HTML tags which are used together with <table> tag when creating
tables, (b) write HTML codes which display the given table, (c) explain
three ways used to embed JavaScript into HTML with examples.

A total of 310 (100%) candidates attempted this question. Out of whom
175 (56.5%) scored from 0 to 3 marks, 117 (37.7%) scored 3.5 to 5.5
marks and 18 (5.8%) scored 6 to 10 marks out of the 10 marks allocated.
Figure 6 illustrates the candidates’ performance on this question.

Scores
m0-3

035-55

m6.0-10

Figure 6: The candidates’ performance in question 6 of paper 1

The general performance in this question was average because 43.5% of
the candidates scored above 3 marks. The analysis shows that some of the
candidates who scored low marks explained correctly the three basic tags
used in creating tables in HTML in part (a). Other candidates managed to
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explain correctly only two basic tags used together with <table > tag in
creating a table. Moreover, some of the candidates mentioned correctly
two out of three basic HTML tags and failed to explain them. This led the
candidates to score low marks. In part (b), the candidates managed to
write open and close HTML codes but failed to write codes to display a
table. Some of the candidates used codes of designing a frame to create
table. For example, one of the candidates wrote; <Frame> row “3”
column “3” </frame>, instead of <table border = “1””> to create a table by
using HTML codes. Other candidates failed to differentiate between the
heading size codes and codes to design a column head in a table. For
example, one of the candidates wrote; <h1> Name </h1> instead of <th>
Name </th>. This indicates that the candidate had insufficient knowledge
of table designing by using HTML codes.

In part (c), most of the candidates were not aware of how JavaScript can
be embedded on the HTML page. Some of the candidates explained
heading size h1l, h2 and h3 as the ways to embed JavaScript into HTML
page instead of <head> tag. This signifies that the candidates failed to
differentiate the effect of heading size tag and <head> tag in HTML.
Other candidates managed to list two out of three ways but failed to
explain them and give their examples which led them to score low marks.
In addition to that some candidates explained linking HTML pages as one
of the ways to embed JavaScript using <a> tag. The candidates did not
know that JavaScript statement can be a separate file that is attached to the
HTML document. Extract 6.1 presents a sample of such incorrect
responses.
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Extract 6.1: A sample of an incorrect answer to question 6 of paper 1

29



In extract 6.1, the candidate managed to explain correctly one HTML tag
out of three tags required to create a webpage in part (a). In part (b), the
candidate wrote incorrect HTML codes to display the given table.
Furthermore, in part (c), the candidate wrote incorrect ways used to embed
JavaScript in the HTML page.

On the other hand, the candidate (37.7%) who scored average marks (3.5 -
5.5) managed to mention and explain correctly the three basic HTML tags
used together with <table> tag when creating tables in part (a). In part (b),
some of the candidates managed to write codes to open the HTML page
but failed to indicate the table border. Others indicated the table border but
failed to insert the colour in the header part of the table. Moreover, some
of the candidates used the table data tag <td> instead of the table header
tag <th> in a header part of the table. This shows that the candidate had
insufficient knowledge of table designing by using HTML codes. Other
candidates interchanged the position of <tr> and <td> in a table designing.
The candidates wrote, <td> <tr> changeme Panda</tr> <tr> T.2006.27
</tr> </td> instead of <tr> <td> changeme Panda</td> <td> T.2006.27
</td> </tr>. The candidates were supposed to know that the row should be
designed before the column in HTML table. In part (c), some candidates
managed to mention and explain one way out of three ways used to embed
the JavaScript into HTML page and they could not provide examples as
per the question’s requirements. Other candidates mentioned head part and
external part of the scripts but they failed to provide correct explanations
and examples, thus some marks were lost.

Further analysis shows that the candidates (5.8%) who scored high marks
(6 — 10) were able to provide correct responses to most parts of the
question. The candidates explained the three basic HTML tags used
together with <table> tag in creating table in part (a). They also wrote
correctly the HTML codes required to display the given table in part (b).
A few candidates managed to write correct codes to display the HTML
table but failed to write the codes required to display the header colour of
the table. Moreover, in part (c), some of the candidates managed to
explain correctly without giving examples of the three ways used to
embed the JavaScript in the HTML page. Other candidates mentioned two
ways out of the three ways used to embed JavaScript in the HTML page
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without giving examples hence; they failed to score all marks allocated to
this question. Extract 6.2 presents a sample of such correct responses.
[

%) Thewe ave Thves basf WTwmL f@gg; Aohizl,
v ed ’ragdkmr bl ave

1) Table vow Lb7 2/l -

oy o oo Constimdt wvus 3
e Bhte o HTR

W) Table head ZH0> 7LD

<~ \‘C' " "““\Q\:f\\v kf c,m\sm}‘ a1 t_\T&RJEUS
and o \DG\SL e W\fc%\s' Nulives \\stl(
e Shles Al ban

W) e Soks sty /407

— T weinly Xo Gonstuds of X5
LA ol o Ve Bhle

V) H‘THL

b) 21 Al Jpe \’\'\'mL?
Zininl >

Zhaody

2 o> Modiadhe £ [N\ >
2frecd)>

Lbcd(\fk >

LG pon 7 St Tnformalo, </ Qaglian>
ZYable Jporder =42
Lhe sWh\le =" backamund cdov:

; s Qre™ >
2H>Name £/t

24> Rl 2/ bWy

LYy Sex. 2 /Y

L/ L/

L\

ALY, C\“&“stzrne_ Domdla 4‘:\-7

31



2 &7 T 2006 . Q] £ty
<Y& Yy Eemale < [tb>
o7
< b2
23 7 Mobula. Pewrlee < (B2 7
£ AN T T 2006 . M < [t 7
< D7 Male </ >
£l &7
2 [ boNy 7
</ Wy

@) %vasmp% B TvVeny &A&\\_ve, Wi&mw\q
L@mum—% , e ‘@a\\bwmu ave the wdux ‘-Tﬁ—
@bt Toticewn D\_ v i

\/ B o heenn Lneasly Yoo %Mmu@__
<\ c&ocm pe Wil > '
< W&\ >
P

2o 7 Modalig 2 UMy £Scdpty
MUBonelon  oerdes () 3
Navr- o, b}
A= oy uwlors—C ovovment q&&tﬁ—\ﬁr\r\m‘(@s—vm
(_}\;nh”) VG.\UQ_)
b —. Ro_
Ao cumment . quE\ka%\lm@P\ﬂ) b
L/ hvs) >

Extract 6.2: A sample of a relatively good answer to question 6 of paper
1.

In extract 6.2, the candidate managed to explain correctly the three tags
used to create tables in part (a). In part (b), the candidate managed to write
correctly HTML codes to display the given table, while in part (c), the
candidate explained correctly only one way out of the three ways used to
embed the JavaScript in the HTML page.
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2.1.7 Question 7: C++ Programming

In this question the candidates were required to; (a) differentiate relational
operator from logical operator as applied in C++ programming language
with an example in each case, (b) describe a while loop and do...while
loop with the aid of syntax template (or general form), (c) explain when
the while and do...while loops are generally used and (d) identify  the
output of the following program;

#include<iostream>

Using namespace std;

int main()

{

int i=3,j;

while(i)

{
cout<<”i= “<<G<<’7;
for (j=0; j<i; j++)
cout<<”j=<<<<’;
cout<<’\n’;

system(“pause”);
return O;

}

A total of 310 (100%) candidates attempted this question. Out of whom
284 (91.6%) scored from 0 to 3 marks, 17 (5.5%) scored 3.5 to 5.5 marks
and 9 (2.9%) scored 6 to 10 out of the 10 marks allocated. The candidates’
general performance in this question was poor because 93.2 per cent of the
candidates scored below 3.5 marks. Figure 7 illustrates the candidates’
performance in this question.
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Figure 7: The candidates’ performance in question 7 of paper 1.

The candidates who scored low marks, that is, 0 to 3 marks managed to
give examples of relational operator and logical operator as applied in the
C++ programming language but failed to explain them. Some of the
candidates explained correctly only the relational operator with examples
but failed to explain the logical operator. Others interchanged the
definitions of relational operator and the logical operator. Moreover, some
of the candidates mentioned examples of arithmetic operations instead of
examples of relational and logical operators. This shows that the candidate
lacked knowledge of the C++ programming language. However, a few
candidates gave correct explanations with the correct examples. In part
(b), some candidates interchanged the definition of while loop and
do...while loop. Other candidates gave direct translation of the terms
while and do...while without regarding them as loops used in the C++
programming language. For example, one candidate wrote; while loop is
one which place against the something else, do...while loop is the fake
place on behalf of something else. Furthermore, one candidate drew an

arrow (—— ) to express while loop and arrow pointing in two

directions ") to express do... while loop. This indicates

that the candidate failed to express the concept of loops in words.
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In part (c), some of the candidates explained how the loops work instead
of when they are used. Other candidates gave the application of while and
do...while which are not related to the with C++ programming language.
For example, one candidate wrote; do...while loops are generally used in
banking where you can navigate. This indicates that the candidate did not
understand the question requirement. In part (d), some of the candidates
drew Pascal’s triangle as the output of the given code. This indicates that,
the candidate guessed the output without considering the given the C++
program. Some candidates copied the question while others listed the
numbers in ascending and descending orders without relating the given
lines of codes. For example, one candidate wrote; i=3,2,1 and
j=0,1,2,3,4,5. This signifies that the candidates lacked knowledge of the
C++ programming language. Extract 7.1 presents a sample of such
incorrect responses.
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Extract 7.1: A sample of an incorrect answer to question 7 of paper 1
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In extract 7.1, the candidate failed to differentiate relational and logical
operator and gave a wrong example to each operator in part (a). The
candidate gave incorrect description of while and do...while loop and
failed to state when the two loops are used in C++ program in part (b) and
(c). Also, the candidate failed to give the required output of a C++
program in part (d).

Moreover, the candidates (5.5%) who scored average marks (3.5 - 5.5)
gave correct differences of relational and logical operators but failed to
give correct examples. Some candidates managed to give correct
explanations of one operator and correct examples but failed to explain
another operator. This indicates that the candidate had insufficient
knowledge of relational and logical operator as applied on C++
programming. In part (b), some candidates managed to write the correct
explanation of while loop with its syntax but failed to explain the
do...while loop and its syntax. Other candidates managed to give the
syntax of while loop and do while loop but failed to describe them. In part
(c), some candidates interchanged the uses of the two loops in a program
hence lost some marks. In part (d), the candidates were able to write one
line as an output of the given program but failed to give the other two lines
which led them to lose some marks as well.

On the other hand, the candidates (2.9%) who scored high marks
differentiated correctly the relational operator from the logical operator in
part (a). Some candidates managed to explain only the relational operator
with examples but failed to explain the logical operator as applied in C++
programming. Others gave correct explanations of both operators but
failed to give examples of the logical operators. In part (b), most
candidates were able to describe a while and do...while loop. However,
some of them failed to write the syntax template. Other candidates
managed to write the syntax template of one loop but failed to give the
template of another loop. Furthermore, in part (c), most candidates gave
the correct response but, a few of them gave the use of the loops instead of
stating when the loops are generally used which made the candidates not
able to score all the marks in this part. In part (d), the candidates gave the
correct output of the C++ program. Extract 7.2 presents a sample of such
correct responses.

36



2

(@) *edaftowd sperddor 2 aw mvdlw ow
A o Cte pmq*‘ﬂ!vwmfw_o, bﬂa}l"\ g\,m«iu Q‘3'9\9‘/’(\(&_

'K{'fvm—ﬂ\'»\ip L,d\w\a[ud A‘M‘D\J ww&?‘(’fw Qxanmplo Qﬁ%

Reldtoal gpocdbr cre G P-cld  &d coerddor ..

.,Y () 3,{[,.2\0, L”\‘j?‘“" @fu’ébf whon ’ o.,ppL\eJ

$n cxrt mmm?w\ \‘""’L‘\ A [y M@g ‘pﬂ‘_a coq

|4

J\Tﬁ""‘ Qe ’ 1o QH‘M CWM&PL“-L »d/lﬂd-e\ﬂr f+ =

P o ‘h"‘—l-“’* &x;ﬁ”"‘-?l.(l SE log»;\'laj @pr«:pam e
C==) (/=) (s=D, c<=), '

&

(_'(;1 L;\LC.‘\q_— ‘. lcsuP —5 15 a mj)mj rafw"ff#fw_ c.c:n%m'

ﬂl"j‘d\ [\-"MJ ("N \Cf-(‘ T pledra vv\w\iv\r\ A’Ww f}?ruc)‘n Wmnfhx\

tn wledl Mo oodbons  SAhT gl dle Be Fab

Qvu\a.mi-‘ h—o“o'wf {.

v -
R ocodtax T

w\cx‘:\‘g ( c;,v‘z\l\ﬂ'v\ 5

1

ry

RS % VIO o

4

Ks

cuPo - (,S\AZ‘L -0 a (ﬁpevﬁ%»/e !av'\{\fb\ Jcﬁ?\ me.‘& win

7
Al progeananadng Ba @\"i‘:‘v\ e pxkcﬁﬂhg = 5&9\&

-eMAﬂMR Lx &‘-'(‘U\i %—'&}\SZM Ta\\oéf: (:)j“’\g (nh&{’g\\‘" .

k)
= V
\\ 5o _g‘fn\"z‘vx s

de

{

[

//'- o 'S’W:XZ\,\/\LA—&L

/

A

37



thé*?"\% s c“\1 owet, cdmav 0 e -U“Lf‘y, (aup :"‘7
A e e e
@ﬁw\’ ‘L)D—E‘t\ 4 Mo\ 2 pauses Vagecﬁf‘wi _cfh«%c -2 SN
i&\j, _é,'bjzwa:»\,h (\'CM (‘w\laws He Cﬁ“‘{?&ﬁwn‘-

)] ® Dj?j o Qv “t pogram ol Le
! l U A9 F
© o - (Y3 © N\, ’
$='3" j=% 3=t J=12
122 JHet 1=
GL:\" dﬁ:\af

Extract 7.2: A sample of a relatively good answer to question 7 of paper 1

In extract 7.2, the candidate managed to describe the while and do...while
loop with an example in each case. Also, the candidate explained correctly
when while and do...while loops are generally used and gave correct
output from the C++ programming syntax. However, the candidate failed
to explain the logical operator as applied in C++ programming.
Furthermore, the candidate interchanged the examples between relational

and logical operators.

2.1.8 Question 8: IT and Environment
This was an essay question and the candidate was required to explain six
ways in which ICT may affect human health, culture and environment.

The statistics show that 259 (83.5%) candidates attempted this question, of
which 131 (50.6%) scored from 0 to 5 marks, 90 (34.7%) scored 5.5 to 8.5
marks and 38 (14.7%) scored 9 to 15 out of the 15 marks allocated. Figure
8 summarises the candidates’ performance in this question.
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Figure 8: The candidates’ performance in question 8 of paper 1.

The general performance of the question was poor because 66.4 per cent
of the candidates scored below 6 marks.

The analysis shows that the candidates (50.6%) who scored low marks
managed to explain only one or two ways in which ICT may affect human
health, culture or environment. The candidates failed to give correct
introduction and conclusion. Some of the candidates defined or gave the
long form of ICT instead of explaining the term ICT. This led them to lose
some marks in the introduction. In addition to that, some of these
candidates wrote positive impacts instead of negative impacts of ICT in
human health, culture and environment. For example, one candidate
wrote; ICT led to development of our own environment. This implies that
the candidate did not understand the requirements of the question. Other
candidates explained the disadvantages of using computer without
focusing on how it affects human health, culture and environment. For
example, one candidate explained online theft which is not the effect of
ICT on health, culture and environment. Furthermore, some candidates
gave correct answers but failed to explain them clearly due to poor
English language proficiency. Extract 8.1 presents a sample of such
incorrect responses.
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Extract 8.1: A sample of an incorrect response on question 8 of paper 1.

In extract 8.1, the candidate gave incorrect introduction and conclusion.
Also, the candidate failed to give the correct ways in which ICT can affect
human health, culture and environment.

Most of the candidates (34.7%) who scored average marks were able to give
the correct meaning of ICT and managed to explain some of the effects of
ICT on human health and culture but failed to explain how it affects the
environment. Furthermore, some of the candidates gave correct introduction
and conclusion with two ways that ICT affects human health, but failed to
give other correct ways on how ICT affects culture and environment. Other
candidates gave correctly four ways by which ICT affects human health and
culture. However, the candidates failed to give correct introduction and
conclusion as well as the ways that ICT affects environment. This shows that
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the candidate had inadequate knowledge of ICT especially on the
environment. Further analysis shows that some candidates wrote the
introduction based on the definition of computer only. This led them to lose
some marks in the introduction. It is noted that some candidates mixed
positive and negative effect of ICT in health, culture and environment while
others gave six ways by which ICT affects only human health without
explaining other ways in which ICT affects culture and environment.

On the other hands, the candidates (14.7%) who scored high marks (9.5 —
15) gave correct introduction, explained correctly the six ways in which ICT
affects human health, culture and environment as well as the correct
conclusion. This implies that the candidates had adequate knowledge of the
ways in which ICT affects human health, culture and environment. However,
some candidates were able to give the correct introduction of ICT and
correct explanation on the ways that it may affect human health and culture
but failed to explain the ways in which ICT affects the environment. Other
candidates managed to explain six ways in which ICT affects human health,
culture and environment but failed to give the correct introduction and
conclusion. In addition to that, some of the candidates repeated to explain the
same ways. Others gave correct introduction and effects of ICT but failed to
write a plausible conclusion. This led them to lose some marks. Extract 8.2
presents a sample of correct responses.
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Extract 8.2 A sample of a relatively good answer to question 8 of paper 1

In extract 8.2, the candidate managed to explain six ways in which ICT may
affect human health, culture and environment. However, the candidate wrote

the incorrect introduction and conclusion.
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2.1.9 Question 9: Information System

The question required the candidates to analyse four advantages and two
disadvantages a school would get from using Database Management
System (DBMS).

The statistics show that, 247 (79.7%) of the candidates attempted this
question, of whom 31 (26.7%) scored from 0 to 5 marks, 50 (38.5%)
scored 5.5 to 8.5 marks and 166 (34.8%) scored 9 to 15 out of the 15
marks allocated. Figure 9 summarises the candidates’ performance in this
question.

Scores
m0-5

a5.5-8.5

mo.0-15

Figure 9: The candidate” performance on question 9 of paper 1.

The general performance on this question was good as 67.2 per cent of the
candidates scored above 5.5 marks. The analysis of the candidates’
responses in this question shows that the candidates (34.8%) who scored
high marks explained correctly the advantages and disadvantages of using
the database management system in schools. However, some candidates
failed to give the introduction and the conclusion which led them to lose
some marks. Moreover, some candidates gave correct introduction,
advantages and disadvantages of the DBMS in schools but failed to
provide correct conclusion. It was also observed that other candidates
wrote incorrect disadvantages of using DBMS in schools. Extract 9.1
presents a sample of such correct responses.
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Extract 9.1: A sample of a correct answer to question 9 of paper 1.
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In extract 9.1, the candidate gave the correct introduction, described
advantages and disadvantages of the database management systems as
used in schools and concluded correctly.

Most of the candidates (38.5%) who had the average performance
managed to explain at least one advantage and one disadvantage of using
database management systems in schools with plausible introduction and
conclusion. The analysis shows that there were also candidates who
interchanged the advantages and disadvantages of using database
management system in schools. Other candidates gave advantages and
disadvantages of database instead of DBMS. However, some of the
candidates gave correct advantages and disadvantages of DBMS although
they wrote the introduction based on database only without the conclusion.
Other candidates wrote introduction of database instead of DBMS. For
example, one of the candidates wrote; DBMS is the method of collecting
and organizing data for quickly retrieval. The candidate did not realize
that DBMS is a software and not a method of collecting and organizing
data like a database. Furthermore, there were candidates who gave all
advantages and disadvantages but failed to explain them in detail. This led
them to lose some marks.

On the other hand, the candidates (26.7%) who scored low marks had
inadequate knowledge about database management system. Some of the
candidates outlined the functions of the operating systems instead of the
database management system. For example, one of the candidates wrote
database management system is used to control computer resources.
Other candidates wrote advantages of DBMS but they did not focus on
schools. Moreover, some of the candidates gave the advantages of search
engine instead of school database. The candidates could not realize that,
not all DBMS are used to search material like google. Others are used to
record and store data like a school DBMS. A few candidates mentioned
correctly some advantages and disadvantages but they provided wrong
explanations. Most of the candidates who scored low marks gave
irrelevant explanations of DBMS on schools. For example, one of the
candidates wrote; DBMS affect the school budget. This signifies that the
candidate lacked the knowledge of DBMS. Extract 9.2 presents a sample
of such incorrect responses.
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Extract 9.2: A sample of an incorrect answer to question 9 of paper 1

The response of the candidate provided in extract 9.2 shows how the
candidate failed to analyse the advantages and disadvantages of using
database management systems in schools. The candidate also failed to
give clear introduction and conclusion.

2.1.10 Question 10: IT and Environment

This was an optional question which carried a total of 15 marks. The
question was “You have been asked to conduct training about the sources
of computer damage to new staff employed by the Ministry of Education
Science and Technology. Explain five possible sources that you will
include in the presentation and give one preventive measure for each
source”.

The statistics shows that, 113 (36.5%) of the candidates attempted this
question, of whom 46 (40.7%) scored from 0 to 5 marks, 46 (40.7%)
scored 5.5 to 8.5 marks and 21 (18.6%) scored 9 to 15 out of the 15 marks
allocated. Figure 10 summarises the candidates’ performance on this
question.
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Figure 10: The candidates’ performance on question 10 of paper 1.

The general performance of the candidates in this question was average as
59.3 per cent of the candidates scored above 5.5 marks. The analysis of
the candidates’ responses revealed that the candidates (40.7%) who scored
low marks were able to list a few sources of computer damage but failed
to explain them. Some of the candidates explained the presence of sunlight
as a source of computer damage instead of excessive heat. For example,
one of the candidates wrote; placing a computer in the direction of
sunlight as the source of computer damage. This shows that the candidates
failed to differentiate between the effect of excessive heat and the
presence of sunlight to the computer. Other candidates wrote correct
introduction but explained correctly only one source without providing a
conclusion. Moreover, some of the candidates repeated to explain the
same sources of computer damage. For example, one of the candidates
wrote; visiting and downloading files from unknown websites and sharing
files via USB drive, opening attachment from unknown emails as different
sources of computer damage. The candidate did not realize that those two
sources of computer damage fall under malware attacks. Other candidates
gave the effects after damage of computer instead of sources of computer
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damage. Fo

r example, one of the candidates wrote; Computer fail to load

faster as a source of computer damage. This signifies that the candidates
did not understand the question. Extract 10.1 presents a sample of such
incorrect responses.
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Extract 10.1: A sample of an incorrect answer to question 10 of paper 1

Extract 10.1 shows a sample of a response from the candidate who gave
unclear explanation on introduction with an incorrect conclusion. However,
the candidate managed to write correctly only one source of computer

damage with other incorrect sources.
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Further analysis of the candidates’ response shows that the candidates
(40.7%) who scored average marks managed to explain the sources of
computer damage but failed to describe the preventive measures for each
source. The candidates also, failed to give the correct introduction and
conclusion. Some of the candidates wrote correctly introduction and
described correctly a few sources of computer damage without giving the
conclusion. Other candidates gave a correct introduction and the conclusion
with one or two correct sources failed to explain correctly other remaining
sources of computer damage with their preventive measures. Moreover,
some of the candidates managed to explain the sources of computer damage
and gave correct preventive measures for each source of computer damage
with wrong introduction and conclusion. Other candidates analysed correct
sources of computer damage but failed to give clear explanations due to poor
English language skills.

On the other hand, most of candidates (18.6%) who had high performance
explained correctly sources of computer damage. They also managed to
explain the preventive measures of each source of the computer damages.
However, some of the candidates failed to explain clearly how those sources
can damage the computer. Other candidates explained correctly the
introduction and sources of computer damage with their preventive measures
but failed to give the correct conclusion. Extract 10.2 presents a sample of
correct responses.
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Extract 10.2: A sample of a correct answer to question 10 of paper 1
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Extract 10.2 shows that the candidate who managed to give acorrect
introduction and conclusion. The candidate also, explained correctly sources
of computer damages with their preventive measures.

2.2 136/2 Computer Science 2

2.2.1 Question 1: C++ Programming
This was a compulsory question which weighed 25 marks. Candidates
were required to;

(@ Construct a C++ program that generates the pattern given in the
following screenshot;

i P:\136 COMPUTERSCIENCE L= B e

Enter a number to generate a patteﬁn
8

m| »

The desired pattern is

8
8 7
7 6
6 5
5 4
4 3
5 4
6 5
7 6
8 7

8

00 =] O U1 G 1N G O 7 =] 60
50 = O LM s L 0D bk B3 0 £ 7 =] GO
00 =] O U1 G 1N G O 7 =] 60
R YL NN T AT
R L LT T

Fress any key to continue . . .

HINT: (A user should enter any number which is less than 11 to generate
the pattern).
(b) Construct a C++ program that finds the sum of the first n positive
integers. The program should prompt the user to enter the number of
terms to be added.

A total of 310 (100%) candidates attempted this question. Out of whom
131 (42.3%) scored from 0 to 8.5 marks, 136 (43.8%) scored 9 to 14.5
marks and 43 (13.9%) scored 15 to 25 out of the 25 marks allocated.
Figure 11 illustrates the candidates’ performance on this question.
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Figure 11: The candidates’ performance on question 1 of paper 2.

The general performance in this question was average because 57.8 per cent
of the candidates scored 9 marks or above. The analysis of candidates’
responses shows that the candidates (13.9%) who scored high marks
managed to type a C++ program to generate the number pattern given in the
screenshot as the question required in part (a). However, some of the
candidates used if statement to generate the pattern instead of a loop
condition. This hindered them to score all marks in this part. Other
candidates gave correct outer loops required for a program to prompt the
user to enter a number of patterns but, they failed to give the inner loops
required to generate the iteration of a particular number. Others typed
correctly “outer loop” but failed to set the correct condition to produce the
required pattern. This indicates that the candidates had insufficient
knowledge of the uses of the loops in C++ programming.

Moreover, some of the candidates gave correct outer and inner loops, but
they reversed the loop conditions which led them to display the inverted
pattern of the numbers. A few candidates managed to write all correct codes
to display the required pattern but could not restrict the user to enter the
number less than 11. In part (b), the candidates managed to construct the
C++ program that prompts the user to enter a number of positive integers to
be added. However, some of the candidates used square brackets to open
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and close a block of the codes instead of using curly brackets. This hindered
the program to run successfully hence, they lost some marks. Other
candidates could not type a statement to help the user to enter a number of
terms. This led them to lose some marks. Extract 11.1 shows a sample of
such correct responses.

2 #include<icstream:>

3 using namespace std;

4= int main(){

= int num;

5 cout << "Enter @ number to generate a pattern Wn";
7 cin »»* num;

a

9% for{int i = num; i >= 1; i--3{

1@ |—| For(int j = 13 j <= i3 J++){
11 H cout <<"  ";

12

13 | for{int k = num; k > i3 k--){
14 E cout << k << " ";

15 |

16 [ For(int x = i3 = <= num; x++)q{
17 cout << w << "M

18 |- ¥

19 cout << endl;

28 |- T

21% for{int i = 23 i <= numj; i++){
22 |— For{int j = 13 j <= i3 J++){
23 H cout <<" ";

24 |- T

25 | for(int k = num; k > i3 k--){
26 E cout << k << " "3

27 | ¥

28 [ For(int x = i; x <= num; x++){
29 H cout << x << " ";

e | ¥

31 cout << endl;

32 | }

33

34 return 2;

3z L 1

numnber to generate a pattern

2
8
7
[
?
i
?

AT I IS
MRS U e SR
000 =] O U L s LT T ] C0 00
009 =] O U L B L LT O =] €880
OO ] O U Gl B3 ek B 0 1 O ] C0 0D
009 =] O U L B L LT O =] €880
000 =] O U L s LT T ] C0 00
009 ] O U L1 B ] D80
WO NI U O ] C0 D
L-1-- PR 1= PR -2
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2 #include<icstream:

3 using namespace std;
4[] int main(){

5 int num, sum = @;
6

7

8

cout << "Enter the number of terms to be added \n";
cin »> num;

9
18] for(int i = 15 1 <= num; i++){

11 sum += i

12 + 1

13

14 cout << "The sum of the first " << num << " positive integers is: " << sum <<endl;
15

16 return 8;

17 Ly

12

Extract 11.1: A sample of a correct answer to question 1 of paper 2.

Extract 11.1 shows that the candidate managed to use C++ program to
generate the pattern using for loop condition in part (a). The candidate also
managed to type all the required codes to sum the numbers in part (b).

Further analysis showed that the candidates (43.9 %) who scored average
marks managed to type the required codes to display the given pattern of
numbers, but failed to type the correct syntax of the used loop in part (a).
This made the program to fail to run successfully. In part (b), the candidates
constructed correctly C++ programs that finds the sum of the first n integers
and enabled the program to prompt the user to enter the number of terms as
required. Some of the candidates failed to declare the variables required in
the program in order to display a pattern of the number. Others could not set
conditions on the while loop which led the program to produce an infinite
loop. Moreover, some candidates designed a program to calculate the sum of
n-terms in arithmetic progression by prompting the user to enter the first
term, n term and the common difference instead of finding the sum of the
first n positive integers. This implies that the candidate did not understand
the requirement of the question. It was noted that there were candidates

constructed a program which adds the fixed entered numbers.by the user
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(@)

instead of using a loop to sum the first n integers. For example, one
candidate wrote;

inta, b, n;

cout<<"enter first number:";

cin>>a;

cout<<"enter second number:";

cin>>b;

n=a+b;

cout<<"n is a sum:"<<n<<endl;

Furthermore, some of the candidates (42.3%) who scored low marks were
able to type only the introduction part of the program in part (a). Some
candidates used Cout statements to generate the given number patterns
instead of the loop condition. This indicates that the candidate lacked
knowledge of applying the looping condition in a C++ programming. Other
candidates managed to initialise the loop but failed to complete the body part
of the loop. In part (b), some of the candidates managed to declare the
variables and to use loops and if statement but, they failed to write the
correct formula to sum the entered numbers. On the other hand, some of the
candidates used wrong application software to type the codes. For example,
one candidate used the word processor to type the code of C++ program.
This shows that the candidate lacked knowledge of using the compiler
platform to type the program. Others typed a C++ program which is contrary
to the question. For example, one candidate typed C++ program to display
the star (*) shapes. This shows that the candidates did not understand the
requirement of the question. Extract 11.2 shows a sample of an incorrect
answer from one of the candidates.

Makefilewin QN 1A.cpp  Makefile.win

#include<iostream>»

using namespace std;
int main()

r

1 - »
int 1=1;
if(i=8 && i<=11);
cout<<“enter i is equal to B8";
cout<<"enter i is less than 11";
return Eﬂ

D WOV WN

=
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W C\Users\User\Desktop\QN 1A.exe

sktop\QN 1A.
Win32 application.

(b) #include<iostream>

using namespace std;

int main ()

{
intn, a, Sum, d;
cout<<"Enter the Number of terms to be Summed:"<<"\n";
cin>>n;
cout<<"Enter The Value to be summed:"<<"\n";
for(int i=0;i<n;i++)
{

int A[n];

cin>>A[i];

Sum += A[i];

}
cout<<"The sum of sequence of number is: "<<Sum;
return O;

Enter the Number of terms to be Sumed:

er The Value to be sumed:

Extract 11.2: A sample of an incorrect answer to question 1 of paper 2

Extract 11.2 shows a sample of a response from one of the candidates who
failed to type the correct codes required to display number pattern in part
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2.2.2

(@). In part (b), the candidate created a program which sums numbers
entered by the user instead of finding the sum of the first n positive
integers.

Question 2: Website Development

This was an optional question which carried a total of 25 marks. The

candidates were required to;

(@) Use basic HTML and JavaScript codes to design a phonebook which
will enable a user to submit the name and the telephone number. The
entries should be displayed in the textarea after clicking a command
button “Submit” and disappear when a user clicks a command button
“Clear”. The interface of the phonebook is given in the following
screenshot:

& P:\136 COMPUTERSCIENCE %Ki v~ E] - 1 dm v Page~ Safety~ Tools~ i@~

Current Person

Name:
Phone Number:

Sbmi]  [Gear

Phonebook:

€ Local intranet | Protected Mode: Off G v W|I0%

Phonebook description:

e Font size and colour of the heading “Current Person” should be
h3 and green respectively.

e Font size and colour of the word “Phonebook™ should be 15
and red respectively.

e Background colour of the body should be pink.

e The width and height of textarea must be 15 and 70 spectively.

(b) Use the basic HTML and JavaScript codes to design a picture gallery
which can enable a user to magnify a picture after clicking the desired
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picture. The gallery should display a message “Click a Picture” after
clicking the command button “Click Me to Magnify”. The picture
gallery should be as follows:

Picture Gallery

| Jr Click Me to Magnify ”‘ I

HINT: (Use your favourite images from the pictures folder
available in your computer).

Gallery description:

e The width and height of each picture should be 170px and 150px
respectively.
e The table border should be 1.

A total of 295 (95.2%) candidates attempted this question, out of
whom 81 (27.5%) scored from 0 to 8.5 marks, 157 (53.2%) scored 9 to
14.5 marks and 57 (19.3%) scored 15 to 25 out of the 25 marks
allocated. The general performance for this question was good as 72.5
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per cent of the candidates scored 8.5 marks or above. Figure 12
illustrates the candidates’ performance in this question.

100 1
90 o
80 -
70 -
60 -
50 1
40 -
30 1

20 1

10 4 IIIII
0

9-14.5 15-25
Scores

N
(8]
2
=
=

Percentage of Candidates

=
1

[o%]

[

Figure 12: The candidates' performance on question 2 of paper 2.

The analysis showed that the candidates (19.3%) who scored high marks
managed to design the given phonebook using HTML and JavaScript
codes in part (a). They also designed correctly a picture gallery using
HTML and JavaScript codes with the specified description in part (b).
However, some of the candidates failed to enable “clear button” that
deletes the contents displayed in textarea. Other candidates managed to
display the textarea but failed to include the required dimensions. These
candidates typed the width and height dimensions instead of columns and
rows. Moreover, some of the candidates wrote JavaScript code to submit
the name and phone number into the textarea with incorrect syntax which
led them to lose some marks. In part (b), some of the candidates linked
one picture and another instead of applying JavaScript codes to magnify
them. This indicates that the candidate did not understand the
requirements of the question. Furthermore, some candidates did not
include the picture used in a webpage in the same folder. Hence, the
picture failed to display on the webpage. Extract 12.1 shows a sample of
the correct response from one of the candidates.
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1| <htmlz

2| <head:

3| «titlexP:\136COMPUTERSCIENCE</title>

4| «script>

5 function process(){

-] var x=document.getElementById({"tx1").value;
7 var y=document.getElementById{ " tx2").value;
8 document.getElementById{"tx3").value=x+" "4y;
9}

0| </fscript>

11| </head>

12 | <body bgcolor="pink™>

13| <«form >

14| <h3><font color="green">Current Person</font></h3>
15 | <tables

16 <tr:

17 <td>Mame:</td>

12 <tdr<input type="text™ id="tx1"></td>

19 <ftr>

0 <tr:

i <td>Phone Number:</td>

-] <tds<input type="text" id="tx2"></td>

23 <ftr>

24 <tr>

25 {tdr»<input type="button” walue="Submit” onclick="process()"></td>
26 <tdsr<input type="reset" walue="clear"»<,/td>

o <ftre

28| </table>

-]

30 | <pr<font color="red” size="15">Phonebook:</font><br>
31 | ctextarea id="tx3" rows="15" cols="7@"»¢/textarear</p>»
a2

33| </form>

34| </body>

35| «/html>

Current Person

Name: |mkudesimba |

Phone Mumber: | 07 1dxxmx33 |

(Submit| [ clear]

Phonebook:

mkudesimba @714xxxx33
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<html><head><title></title><script>
let per;;
function msg disp(){
alert("Click a Picture");}
= function magnify k() {
let koala = document.getElementById("koalz");
o koala.style.zoom = 2;}
= funetion magnify 1(){
let lhouse = document.getElementById("lhouse");
o lhouse.style.zoom = 2;}
B function magnify p(){
let penguins = document.getElementById("p
+ penguins.style.zoom = 2;}
= function magnify t(){
let tulips = document.getElementById("tulips");
- tulips.style.zoom = 2;}
L </script></head>=<body>
] <table border = "1" id = "tbl">
[F<tr><th colspan = "2">Picture GalleryC/th></tr><tr>

F<td»<img src = "file:
id = "keoala" width = "lTOpx" height = "150px" onclick = "magnify ] k()“/.‘></tci>
H<td»<img src = "file:///cC:/uUsers/Public/Pictures/Sample%20Pictures/Lighthouse.jpg"
id = "lhouse" width = "170px" height = "150px" onclick = "magnify 1()}"/></td></tr>
<tr><td}<img src = "file'f/fC'sters/Public:/Pic:turesfSa_gple%QOPichresfPenq'Llins ipg"
id = "penguins" width = "170px" 1r:J_g"1' = "150px" onclick = "magn:l.fy p()"/></td>
Fl<td><img src = "file: : i

es/Sample’2 es
id = "tulips" width = "170px" height = "150px" onclick = "magnify - t()"/></td>
</trr<tr>
[l<td colspan = "2" align = "center"><input type = "submit"
value = "Click Me to Magnify" onclick = "msg disp()"/></td>
|</tr></table></body></html>

Picture Gallery I

| Click Me to Magnify |

Extract 12.1: A sample of a correct answer to question 1 of paper 2.
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Extract 12.1 shows a sample of the correct response. The candidate
managed to use HTML and JavaScript codes to design the required
phonebook in part (a). The candidate also managed to design a picture
gallery using HTML and JavaScript codes.

Moreover, the candidates (53.2%) who scored average marks were able to
generate the phonebook with the correct background colour, font colour
and submit button in part (a). Some of the candidates displayed correctly
the textarea but failed to include the required dimensions and to type the
correct codes that displayed a “clear” button. Other candidates were able
to initiate JavaScript code but failed to write the correct function to
capture input data from text boxes to the textarea. This shows that the
candidate had insufficient knowledge of JavaScript. However, some of the
candidates did not type form tags which include text boxes and the
textarea. This indicates that the candidate lacked knowledge of correct
syntax on designing HTML form. In part (b), most candidates were able to
create the picture gallery interface with all required details by using
HTML codes. But, they failed to write the JavaScript codes for
magnifying the pictures. Other candidates displayed pictures without
including tables. They also failed to merge the table column using colspan
attribute. This signifies that the candidates had partial understanding of
designing tables using HTML codes. Furthermore, some of the candidates
inverted the required procedure in the page designing. The candidates
prompt the user to select an image followed by clicking the message
“click me to magnify” instead of clicking the image directly to magnify. A
few candidates used the cascading style sheet (CSS) instead of the
JavaScript programming language in designing. This indicates that the
candidates did not understand the requirement of the question.

On the other hand, some of the candidates (27.5%) who scored low marks
typed only a few codes to initiate the HTML page but failed to design the
input fields, submit buttons and the reset button. These candidates failed to
define some HTML attributes including font colour, font size and
background colour. The candidates also failed to activate the page using
JavaScript codes in part (a). Some of the candidates typed HTML code
with incorrect syntax. For example, one candidate typed; “<input type="
clear” value="clear”>". This signifies that the candidate failed to
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differentiate attribute reset from a label “clear”. In part (b), the candidates
were able to type open and close html tags but failed to type tags for
creating tables, inserting images within a table and linking them with
JavaScript codes to magnify the inserted pictures. This shows that the
candidates lacked skills of creating html tables as well as inserting images
on a webpage. Extract 12.2 shows a sample of incorrect answers from one
of the candidates.

| Html

2| <h3>current person bg colour = green </h3>

3| <body> background-color = pink

4| ¢label> Name input type = box = right-side </label>

5 <label> phone number inpute type = box = right-side </label:

3| <pl> phonebook </pl:

7| <label> Width area = 15 and Height area = 70 </label:
</body>

3 </htmls

IDOCTYPE<HTML>

<HTMNL=

<titlexpicture gallery=/title>
<heading=

<body="\

<hztable width170px and height150px, bordel’,

Insert picture gallery in table/
click me to magnify</h>
</html=

</heading>

</body=

Extract 12.2: A sample of a correct answer to question 2 of paper 2.
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2.2.3

Extract 12.2 shows a sample of lines of codes from a candidate who failed
to interface in part (a). Also, the candidates failed to use JavaScript and
html codes to magnify the image in part (b).

Question 3: Visual Programming

This question tested the candidates’ ability in creating and activating the
interface using Visual Programming language. The candidates were

required to: -

(@) Use Visual Basic program to design the following “Students
Examination Result Processing” interface:

7
[5 Student Examination Result Processing

Student Final Examination Results

Student's Name

Combination

Examination Number ‘|

©  PCM . PCB ©  HGL

Show Results

Remarks Exat

Clear

Interface Description:

e The height and width of the form must be 6690 and 10185

respectively.

e The option buttons for combinations should be in form of
control array with the name “Comb” and index 0, 1, and 2

respectively.

e The width and height of the ListBox control named Listl is
7455 and 2010 respectively.
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(i)

e PCM stands for Physics, Chemistry and Advanced
Mathematics.

e PCB stands for Physics, Chemistry and Biology.

e HGL stands for History, Geography and Language.

Add six Textbox controls to the interface named P1, P2, P3,
P4, Text2 and Text3. Change the visible properties for these
controls to “False” so that they are hidden when the program
runs.

Add a label having an empty caption to the interface just below
the horizontal line and name it Label4. Change the height and
width properties of Label4 to 375 and 8295 respectively.

(b) Use Visual Basic codes to activate the interface created in part (a) in
order to perform the following tasks:

(i)

(i)

(iii)
(iv)

(v)

(vi)

Prompt a user to enter marks for each subject in a selected
combination. The General Studies subject is compulsory for all
students. The combination options should be stored in the
textboxes named “Text2” as PCM, PCB or HGL and the
entered marks should be stored in the Textboxes P1, P2, P3 and
P4.

Display on Label4 caption a message “Results for Examination
Number, Student Name and Combination.” Where by
Examination Number, Student Name and Combination are the
inputs entered by the user.

Find the average of the marks stored in textboxes P1, P2, P3
and P4 and store in a textbox named “Text3”.

Display in Listl the subject name with their respective marks
entered and the average marks when a user clicks the command
button “Show Results”.

Give a message “Congratulations! You have passed to join the
University” if the average is greater or equal to 40% otherwise
it should give a message “Sorry your average is less than 40!
Please re-sit the exam” when a command button “Remarks” is
clicked.

Exit the program when a user clicks an “Exit” button.

71



(vii) Clear all the visible inputs and the outputs when a user clicks a
“Clear” button.

This question was skipped by many candidates as only 13 (4.2%)
candidates attempted it. Out of whom 10 (76.9%) scored from O to 8.5
marks, 2 (15.4%) scored 9 to 14.5 marks and only one candidate (7.7%)
scored 23.5 out of the 25 marks allocated. The general performance in this
question was poor as 76.9 per cent of the candidates scored below 8.5
marks. Figure 13 illustrates the candidates' performance in this question.

100 -
90
80 ~
70 1
60 A
30 A
40 A
30 4
20 A
10 A

0

76.9

Percentage of Candidates

1.7

[
[

0-85 9-145 15 -
Scores

Figure 13: The candidates' performance on question 3 of paper 2.

The analysis shows that, majority of the candidates (76.9%) who scored
low marks from O to 8.5 managed to design the given visual basic
interfaces as required but failed to type any line of visual basic codes.
Some of the candidates designed visual basic interface with all controls
from the screenshot but failed to add more controls stated in the interface
description in part (a). Other candidates managed to design, resize and
hide or unhide controls but they typed visual basic codes using incorrect
syntax. For instance, one of the candidates typed the following codes to
display average on Listl control: Listl.subject name. Average
mark=subject name. Average marks “show results”. It was noted that
there were candidates who presented the automatic codes generated by the
Visual Studio framework. These candidates edited the names of the
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command but failed to type the codes required to activate the page. For
example, one of the candidates typed:

Private sub P1_textChanged(ByVal sender As System,Object,ByVal e As
System.EventArgs) Handles P1.TextChanged

End Sub.

This signifies that, the candidate had insuffient knowledge of designing
page using visual basic codes. Other candidates designed correctly the
interface and activated only a few controls using simple codes, such as
close or end the program when an exit command button is clicked. But,
they failed to type all the required visual basic codes. Extract 13.2 shows a
sample of an incorrect answer from one of the candidates.

Student Final Examination Results

-+ examination number - - ‘

student’s name |

- combination

SUCPCM (PR " HBL
Show Resuits Rermarks Exit | clear |
s ‘m s ‘pz |p3 s |p4 s [Test2 o [Ten

DU LabeM

rivate Sub command click()
ext2.Text =text2.text"PCM,PCB
1.P2.P3.P4.text=P1.P2.P3.P4.t
nd Sub

rivate Sub command click()
abel4.text=label4.text"examination number and student name"”
nd Sub

rivate Sub command click()
verage.text=Pl.P2.P3.P4.text"text3"
nd Sub

rivate Sub command click()
istl.subject name.average mark=subject name.average marks"show results"
nd Sub

rivate Sub command click()

nd Sub

congratulation! yUJhavEpassedtDjuinthEUniversity"lifthEaveIageisgreateluleq.}altuéo% ."sorryyouraverageislessthan40!pleaseq

rivate Sub command click()
xit the program.text="Exit"
nd Sub

rivate Sub command click()
lear all the visible inputs ande output when a user clicks="clear"
nd Sub




3.0

Extract 12.2 shows a sample of responses from a candidate who managed
to design the required interface. However, the candidate typed incorrect
visual basic codes to activate the interface.

On the other hand, the candidates (15.4%) who scored average marks
created correctly the given interface in part (a). They also managed to
activate some of the controls using visual basic codes in part (b). These
candidates activated a program to add data from a user into invisible
controls and used them to calculate the average and generated remarks.
However, they failed to display Registration Number, Name and
Combination in label4 as instructed in part b (ii). This signifies that, the
candidate lacked sufficient knowledge in visual basic programming.
Furthermore, one candidate managed to type visual basic codes to prompt
user input and displayed remarks message. But, the candidate failed to
display the results of students in the list.

Further analysis of candidates’ response shows that only one candidate
scored high marks. This candidate managed to design interface and
activated correctly all controls on the interface using visual basic codes.
Also, the candidate managed to add a control array of option button as
instructed in part (a). Moreover, the candidate automated all controls with
visual basic codes to display the required task in part (b). However, the
candidate did not include the percentage (%) symbol in the students’
marks displayed. Hence, the candidate lost some marks.

PERFORMANCE OF THE CANDIDATES PER TOPIC

The analysis done in relation to each topic shows that the candidates
performed well in two (2) topics, averagely in three (3) topics and weak in
five (5) topics. The candidates performed well in the topics of Information
System (73.3%) and Computer Basics (64.8%). The good performance is a
result of the correct interpretation of the questions and the candidates’
good practical skills. The candidates’ performance was average on the
topics of Website Development (58%), IT Environment (54.4%) and Data
Representation (41.3%). This performance was due to inadequate
knowledge on the concepts taught under this topic. The candidates’
performance was weak in the topics based on C++ Programming
(33.1%), Data Communication and Networking (25.8%), Visual
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4.0

4.1

4.2

Programming (12.4%) and Data Structure and Algorithm (9%). The poor
performance in these topics is attributed to the candidate’s lack of
practical skills on the topics. The Appendix shows the performance of the
candidates in each topic.

CONCLUSION AND RECOMMENDATIONS

Conclusion

The analysis of candidates’ performance in Computer Science in ACSEE
2021 has shown that out of the 9 topics which were examined 2 topics had
good performance, 3 topics had average performance and 4 topics had
weak performance. Therefore, the overall performance on Computer
Science in 2021 was average. The analysis of the candidates’ responses
indicated that the candidates had difficulties in answering questions from
the C++ Programming, Data Communication and Networking, Visual
Programming and Data Structure and Algorithm topics. The weak
performance in the four topics is attributed to the candidates’ insufficient
knowledge and skills. They also lacked skills about the tested concepts
and wrong interpretation of the given information.

Recommendations

In order to improve the candidates’ performance in the future Computer

Science examination the following are recommended:

(@) Teachers should guide the students to develop visual basic programs
practically.

(b) Teachers should encourage the students to practise designing
program using C++ programming language.

(c) Teachers should provide students with more exercises and tests to
enhance their mastery of both theoretical concepts and practical
skills of programming languages.

(d) Different techniques should be employed by the teachers to make

students understand the concepts of pointers, records and array data
structure.
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(€)

(f)

(9)

(h)

Students should be guided to explain various data transmission
media and their uses in a real life.

Teachers should led students to discuss how IT interacts with the
environment in our daily-life.

Teachers should led students to practice on the use of HTML and
JavaScripts.

Students should do adequate exercises on converting number from
one system to another.
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APPENDIX

Analysis of Candidates’ Performance per Topic

SIN | Topic

Number
of
Questions

Per centage
of
Candidates
who Scored
35% Marks

or Above

Remarks

77

3 Website Development 2 58 Average
4 IT and Environment 2 54.4 Average
S Data Representation 1 41.3 Average







